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Instructions to the candz fes /
1) Al questions are compulsory
2) Draw ne abelled diagrams wherever necessary.

[Max. Mafks : 50+

QI/ Answér the f@llowmg multiple- choice questions. . & [20x%2=10]
a)  The functions, transfer of data from source to desti‘ﬂaﬁon recomending

rul‘g for extration are performed by \ :
P "ETL Tools v y ] Da};abasc tools
i) Mining Tools ; WQ AH of the mentioned

" b)  Text mining tasks involves & )

1)  TextCategorization f%?w il ‘T(.xt clustcrmv
i) DFD NN nv) Both (i) and (ii)

¢) Web page contents used¥ : Tl]anU ~of data are coliected from

i} Web page contents

i) Images , 1v) Audio
d) Google PR checker Lin viewer are tools for

n LO& files

i) AMextmining T 1)  Web content mining
i) \Webstlicture r“mmg iv) Web usage mining

elg K imthe'l K- -means Mgo**t%m stands for Ly
i) _sData set i)  Number of dusters
n)  Error function 1v) KHOW]LdgL v

Dy Agglomerative clustering falls under which typ-,, of clustermg method?

1) Partition method 1i) H 1ercach1w}method
iy  Both (i) and (ii) iv) _Nither (i) and (ii)

g) InBayesis Theorem Class cond'jtion&lutprobabitli/ty is called as
i)  Evidence i)  Likelihood
i)  Prior | )& Posterior

PTO.

i



h) K-means squared error function is related with which of the following?

1)  Manhattan distance 1) | Hamming distance
i) Euclidean distance * iv) Minkowski distance
1) collects alluthe m“fermatioq and the subjects about an entire
orgamzat10n v
i) DataMa 7 V‘ i)  Virtual warehouse

i) Data waréhouse view 1v) enterprise warehouse

)
16 many i)  One to one
iii) One to many iv) All ofthe ientioned
k) __maps the core warehouse metadataito bﬁ&JﬁCSS concepts, familiar

andt is useful to end users. . %

i) Application level metadata ,%11} User level metadata

i) Enduserlevel me‘raddm

a

1) Which of the following,is ﬁ,pt a component of a data walehoube”’

) f\am ar\f fiﬁf led _/‘f‘QTu

i1 IR0

ii) Lightly summaziié;{f aat;a iv) Lompo*aent key

m) Which is NOT"a basic conreptwd schema in Data warehouses?

i) {Starsghetha O ii)

1) % Snewflake Schema iv)

n)y, The Extract process is
1) Capturing all of the data contained in various operational system
i)  Capturing sub set of the data contained in'various operational system

i) Capturing all of the data contained iii various decision support
systems &7 ‘

1v)  Capturing of sub set of the data containedin various decision support
systems. '
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0)

q)

02) a)

b)

a)

b)
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An array in which data is stored are characterized by multiple dimension
is a

)  Table . i) Cube

iii) ~ Schema - " iv) Collection

thch of the foHmeg is "NOT an advantage of ROLAP?
N i)  Scalability

p of resourcss‘ iy) Flexible

is in the 3™ normaﬂ form
i,)? OLA P i)  OLTP .,

i) _ @ata warehouse v) both (1)&?11)

operation gets data from cqar%gr graﬁulamy te fine granularity

)  Roll up \ vr.che

i) Pivot " Drili Down

Data mining contributes
1} - Data ware house i) Data stores

/

i) Knowledge base My iv) Pattern finding

Data mining cdh, be perfomled on_

i) {Spatial database ii)  Tomporal data

), “Textdatabase. v) All ofthe mentjﬁoned x .

Discuss the schemas is Data warehousing with the help of employee

database example. , (5]
Give 5 difference between transactional data and'\x cu‘\, House data based

on there characteristic. S, ey [5]
oR W o7

Explain the architecture of a Data waréhotise with a neat dia g*“ m.  [5]

Name the different OLAP architectures. th any two (2) and describe in

detail with advantage. [5]




03) a)

b)
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What are Discretization and concept Hierarchy generation process? Give

an example for each. [5]
Explain the tools used for data warehouse development. [5]
OR

(5]
rent steps of creating on OLAP, with examples. [5]

Consider the data set given below, compute the support for item sets

{8/ (b, 4] and {b, d, e} 3 [5]
cus;[emer ID | Transaction ID [tems Brgugh
1 0001 7 e e)

1 $a. b, c, e}

2 ‘a, b, d, e}

2 {a,c.d, e}

3 {b, ¢, ¢}

3 {b, d, e}

4 {c, d}

4 {a, b, ¢}

5 fa,d, e} A
5 0038 {a, b, gfd

Using the result from problem a, above, corpute the confidence for the

association rules {b, d}—{e} and {e} —>.{b, d} - [5]
OR




a) A consultancy wants to categories MCA students into classes as Excellent,
Good, and Average. The data collected from students are their average
percentage in MCA- I year andre%ult of the apptitude test conducted by
the consultancy. iy

Solve the problemising deécision tree Algorithm. [5]

b) Using Bayes an: ia§§igicétion to classify the sample data: {6, 43}, As
male or femalg. Training data is given. [8]

Person Weight
Male O62 82
Malew | 511 65 Q
Male . 5.7 58 S B
Mo < 511 55 / %
Female 4.10 Y
Female 5.5
Female 5.0
Female 5.75 .7
¢5) a) Construct a PP-TreC%Aigonthm, to find frequency patterns for the given
‘ data. : : :‘15?
Transaction L ~ %&m Bought
100% {f,a,¢c,d, g 1,m,p}
200 {a, b, ¢, f, L, m, o}
300 ib, £, h, j, o}
400 (b, c, k, s, p}
500 {a, f, c, e, L, p, 1ff; n}
b) Explain Hierarchical clustering using examples: [5]

OR
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A

Perform K. means clustering and show all the calculations at each iteration,

to form the final cluster. Assume the initial clusters are A, Eand H.  [$§]

X2 ﬁ( el

Points X1

A 3 3
C 4
D 4
E 7

F 8

G 5

I 9
IS 6
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